Sociology 405/805

Winter 2004

Problem Set 2

Due February 5, 2004

1.  Vitamins and Alzheimer’s risk.   See the Globe and Mail article of January 20, 2004 and the summary from Archives of Neurology.  

a. Use the data provided in the paragraphs in bold to construct a 2x2 table.  From this calculate the difference of proportion, odds ratio, and Yule’s Q for this table.  State the null and research hypothesis but, unless you enter the data into an SPSS data set to obtain the values of the measures of association, do not bother with the actual hypothesis test.

b. Would λ be of any use in analyzing this table?  Explain.

c. Using the results from a. and anything else you see in the two articles, can you determine whether “the risk was lessened by 78 per cent.” 

d. In a few sentences explain your conclusions.

2.  Relations of production and modernization.  In “Women, work, and transformations in agricultural production,” Canadian Review of Sociology and Anthropology, 27(3) 1990, the author, Frances M. Shaver presents Table 4 and argues that the data “reveal a high degree of association between the two main variables (gamma = 0.572) and underscore the importance of conducting a higher level of analysis.” (near bottom of p. 347).  

a. Confirm that gamma is 0.572.  Use the formula on p. 351 of Ott, Larson, and Mendenhall to determine the Z-value and test the hypothesis.  Does this appear to be the same result as reported by Shaver?

b. Is gamma the most appropriate measure for the relationship in this table?  If yes, explain why.  If not, suggest a more appropriate measure and explain why it might be more appropriate.  (Calculate if you have time).

c. What might Shaver mean by “conducting a higher level of analysis”?

3.  Measures of association for ordinal variables using ssae98.sav.  Use the data set from the Fall 1998 Survey of Student Attitudes and Experiences, found at t:\students\public\201\ssae98.sav to obtain the following.  The variables V1 through V9 are from question 15 and provide respondents’ views about a number of social and political issues.  Each of these variables has an ordinal scale, with responses from 1 meaning “strongly disagree” to 5 meaning “strongly agree.”  Select two pairs of variables, one pair where you might expect a positive relation between the two variables, and one pair where you might expect a negative relation between a pair of variables.  Obtain the cross-classification table, relevant measures of association, and significance.  Explain your results.

